[19:9:9:9:9:9:0:9.9:9:9:9:0:9.9.:9.9:0:0:9.:0.9:9:9:0:0.9.0.9.9:0:0:0.9.0.9:0:0:0.0.9.0.9:0:0:0.0.9.0:0:0.:0.0.0.9:0:0:0.0.9.0:0:0:0:9.0.9:0:0:0:9.0.0.9:0:0:0.0.9.0:9:0:0:0.0.9.0:0:0.0.0.0.9:0:0:0.0.9.0.9:0:0.0.0.0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXLXXKXXKKXXXXKX XL XKXXKXX KX KXKXKLXKXXKX KX XKXXKXKKKXKKXKXKME /1-6600301-00001XX
TrigonometryExercise for ID 9594

23 1 291 51 Tr
Tl =—-4m, 2=11m, T3=14 =, T4=-13m, 75 = , 76 = — , 177 =—"", 8=——"
2 2 2 2

47wt 43t 16 &t 207 757 69m 89 n

79 = , T10 =", Tl =—"—, T12=—"", TI3=—"", 714 =— R T15=
3 3 3 3 4 4 4
95 = 89 n &S m 55 = 143 &t
T16 =—"", T17=—"7"3, TI8=—", T19=—"" 720 =
4 6 6 6 6

157
721 =Sin(11 w), 722 = Cos(15 m), 723 = Tan(6 1), 124 = Sec(-7 1), T25=Sin(

2
T 33n 17 = 38mn (37m
, T27 =Csc 5 ) T28 = Cot , 129 =Cos| — 3 ) T30 = Sin 3
T

2
i 451 (41 471
, 733 =Cos 1) T34 = Sin , T35 = Cot —T

] 9n 651
j, 137 = Sln( j 138 = Cos( j, 139 = Tan( j T40 = Csc(— p )

e e 52 15 ) 2 o). a2

3
T42=5 Cot(
4

j 4Sec( 896anan(— 1injsm(40nj
47 797r
T44=«/ESin(2Zn]—3C ( )+10[Tan( j t( ; j

351 41t ] T
743 =3 Cot| — p Tan| ——— |—24/2 Sin| —
PN R-ET TN IONNIED 0:6'0.0:0:0.0'0:0:0.0.0.0:0.0.0.0.0:0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'0.0.0.0.0.0.0.0.00.0.0:0¢

29
126 = Cos( >

231 43
T31 = Sec —T , 732 = Tan|

6lm
736 = Sec
4
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TrigonometryExercise for ID 9608

Sn 171 31 m 11=
TI=7mn, T2 =-8m, 73 =-9 m, T4=12 =, T5:T’ T6 = — 5 77 =— 5 T8 =
16 387 17 = Tr 737 6lm 67m
79 =— R TI0=—"", Ti] =—"""), TI12=—"", Ti13="", Ti4=—"7, T15=-
3 3 3 3
55 = 109 &t 55 = 137 & 83 m
Ti6 = , T17 = . T8 =— , T19 =— . 720 =
4 6 6 6 6

721 =Cos(16 ), 722 =Sin( 14 ), 723 =Sec(5 m), 724 = Csc(—-14 ), T25=Cos(

, ( 13nj (29nj (33nj _ ( 17nj ( j
T26=Sin| ———— |, T27 = Cot , 728 = Tan , 729 = Sin T30 = Cos
2 2 2 3
38n 44 1t 37m e 47
131 =Cot| ———— |, T32=Sec| ———|, 733 =Cos s T34 = Sin| — T35 =Tan| —
3 3 4 4 4
T 61w 55m
), 137 = Sm( ), T38=Cos£ ), T39=Tan( ) T40=Cot(
741 = «/7 Sec[ J 6 Sm( j[ Cos( j ot(— p j
37n 10 49 it 43 1t
742 =18 Sec Sin Cot 4 «/; Cos P
95n 53n
T43 = 4 Csc| — 2 Cos +4fs1n 3 Tan| -~
o

23 1 49 1t 37n
—4 Cos —T —24/3 Tan + 3 Cot 4
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61
736 = Csc
4

T44 =42 Csc(
4
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TrigonometryExercise for ID 9646

137 11x 17w RN
Tl =5m, T2 =-15m, T3=8m, T4=-14m, T5 = 5 T6 = 5 T7 =— 5 T8 =— 5

16 &t

79 =-

387 37 m 297 41 T1n 83 m
, TIO:—T, T]]:T, TIZ:T TI13=—""" T14=—"" T15=-—

2 b 2

149 nt

45 7t
T16:—T, T17 =—

&3 1 737 55 ¢
) T18=—6, T1I9=——", T20=- -

197
121 = Sin(-5 ), 722 = Cos(—6 1), 723 =Sec(-9 m), 724 =Cot(11 1), 125 = Sin(— j

2
17w 25w 197w 46
726 = Cos —T , 127 =Csc 5 ) T28 = Sec —T , 729 = Cos 3

nj ) (4375
, T30 = Sin
3
T 49 7t 237 _
, 732 =Csc 3 ) 733 =Cos —T s T34 = Sin|

21 1 27 1
j, T35:Sec(— j
4 4
37nj ( 41nj ( 537:) ( 4171) (317:]
s T37 =Sin| ———— T38 = Cos s T39=Sec| ———|, T40 = Cot

4 6 6 6
41 =t
T41=6ﬁsm[ J fSec[ J+3f0sc( jﬁcOs( 4j
41 n 79 1

742 =44/ 3 Cos| — — 25 Cot| — Csc B

67 47
T43 = 2chc( j fcm( j—2Sin( 6nj+2Tan(— 4“}
2 31 19 39
T44:g«/§Sin( 3nj—16Csc( 6aneC( 3nj«/5Cos(— 4nj

),0:9:9.0:9:9.0:9:0.0:9:0.0:9:9.0:9:9.0:9:0.0:9:0.0:9.:0.0:9.0.0:9.9.0:9:0,0:9:9.0:9.0.0:0.0.0:9.:0.0:9.0.0:9.9.0:9.:9.0:9:0.0:9.0.0:9:0.0:9.0.0:9.0.0:9.:9.0:9:0.0:9:0.0:9:0.0:9.0.0:¢

N—

43
131 = Cot( 3

136 = Cot(
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TrigonometryExercise for ID 9649

291 11x 21 = 3=
TI=5m, T2=14 =, T3 =-6m, T4 =-15m, 75 =— , T6 = — , 17 = , T8 =

2 2 2 2

50m 17w 7 40 87T m 85w 57
79 =— R TI0=—"", Tl =—", TI2=—"", Ti13="", Ti4=—"", T15=
3 3 3 3 4 4
99 1t 127 & 83 m 737 101 =
TI6=—"", T17 =——"", TI8=—"", T19=—""", 720 = —
4 6 6 6 6

"
Iln _ 291 17 n
, T28 = Sec _T , 729 = Sin —T , T30 = Cos| — 3

27
721 =Sin(-12 m), 722 =Cos(11 ), 723 = Tan(—12 1), 724 = Cot(10 1), T25=Sin( 5
ch (2511
, 727 = Cot
2
i S0m 49t
, 732 = Cot| — , 733 =Cos
3 4
47 1 65 (85m 10l = 43
736 = Cot —T s T37 =Cos —T s T38 = Sin s T39 = Sec —T , T40 = Csc
T 46 33 31w
stc( j—ZﬁSec[ 1 j«/;Tan( p j
8
T42=2ﬁ$in( J 2[(30{ j+12f(:sc( njﬁSec(
43 n i
T43=2«/§Cos( j—zﬁsm( ]—3«/§Tan( j fcm( j
89 47
T44 = 31/7860( J [Sm( jCos(— 6anan(— 37:)
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13
726 = Cos(
2

22
131 = Sec(

79
741 =2 Cot(

)

i 23w 29m
, T34=Sin| ——— |, T35 =Csc
4 4
n)
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TrigonometryExercise for ID 9669

271 9n 15w 13w
Tl =-8m, 2=11m, T3 =-7Tm, T4=12x, 75 = , T6 =——, T7 = — , 78 = —
2 2 2 2
56 17 = 407 13 = 37 m 637 49 1t
79 =— , T10 =", Tl =—"—, T12 =", T13=- , Ti4=—"], T15=
3 3 3 3 4 4 4
83 m 113 = 127 & &3 1 6l m
T16:—T, T17 =— P T8 =— P TIQ:T, 720 =

3=
721 =Sin(16 m), 722 = Cos(7 ), 723 =Tan( 14 ), 724 = Cot(-15 1), T25=Cos( 5 j

T 25m I1m 19w (16w
s T27 = Sec —T, 728 = Cot 5 ) 729 = Cos , T30 = Sin 3

3
471 29n 251 ) 19w 29n
T3] =Tan —T , 732 =Csc| — 3 ) T33 =Cos 1) T34 = Sin —T , T35 =Csc 4

)

(15
T26:Sm(

431 ) 89w 101 & 83 67
136 = Cot(— Tj’ 137 = Sm(— Tj’ 138 = Cos(— Tj’ 139 = Csc(— T), 740 = Tan(

16 ) 29n 231 71 n 46
T41=?«/§Sm - Cot _T -9 Sec| - p Tan

3 3
57 79 1 46 65
T42:2«/ESec( nj—4Csc( nj——«/;Tan( nj+6«/§8in nj
4 6 3 3 4
(85w 35n 691 Oln
T43 = 6 Sin ~28ec - |+ 104/2 Cos Ol

50m 491 47 1t 6lm
T44 =10 Cos —T —4864/2 Csc 4 Sin| — 3 Tan p
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TrigonometryExercise for ID 9717

15w

76 =

1=

on

2
T

37n
T7 =— ,
2

2

Tl =-13m, T2=6m, T3=-10m, T4="17m, T5=- 5 >
197 44 it 35m 227 8lm 69 71
79 = , TI0=——"", Tl =—""), TI2=——"", TI13=—"", Ti4=——"", Tl5=
3 3 3 4 4
67m 85m 137 1 Ol n
Ti6=——"", T17=—"", TI8 =— , T19=—""), 720 =—
4 6 6
] 17 n
721 = Cos(—13 ) 722 =Sin(8 ), 723 = Tan(6 ), 724 = Csc(—-15m) 725 Sln( 5 j
i I5n 15n 17 n (31lm
726 =Cos| ——— |, T27 =Csc , 728 = Tan| — 5 729 = Cos| — , T30 = Sin 3
40 o 3l ) 43 n 53m
T31 =Cot , 732 =Tan| ——— |, 733 =Cos| — T34 = Sin| — 1 ) T35 = Tan, 4
69 47 1t 95mn 37n 43 1t
736 = Cot , 137 =Cos| ——— |, T38 = Sin| — 739 =Tan , T40 = Cot
6 6 6 6
33n ) 19 47
T41 = 5 Cot 8 Sin ~Sec +24/2 Cos| - ;
i 61 m 19w
142 =— [Sm( jﬁSec(——j—ISTan( P )Cot( 3 j
T43=9ﬁ€0{ j 6[Tan( J+8[Cas( j[CS( j
o o 77 69 1
T44=94/3 Sec( j—lsoﬁ Sin( )CSC(— p jCot( p j
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TrigonometryExercise for ID 9763

11w

331 251 27 x
TI =13, T2 =-8 m, T3=14 =, T4=-15m, T5 = , 76 = — , T7 = , 78 = —
2 2 2 2
34 r 47wt 327 257 69m 107 = 95«
79 =— R TI0=—"", TII:—T, TI12="", T13:—T, T14 =-— , T15 =
49 1t 149 &t 107 & 791 737
T16:T, T17 =— . = , T19:—T, 720 =

19
721 = Cos(—=5 ), 722 =Sin(-17 &), 723 =Csc(8 m), 124 = Tan(-9 1), T25=Sin(

T

J

137 35m i 26T
T26 = Cos| — 5 ) 127 = Tan| , T28 = Csc _T , 729 = Cos —T , T30 = Sin| —
41 29n ) 671 471
T31 = Sec| — , 732 =Cot| ————— 733 =Cos , T34 =Sin| —— |, T35 =Csc| —
3 4 4 4
697 297 S5n 97 1t 43 1t
T36:Sec( , T37:Cos( p j 138 = Sm( j, T39=C0t( j, T40:Tan( p j
3lm 37 x 3=
T41 =12 Sln( ; ]f ( j—zﬁ(:os( cm( j

651

T42=943 Tan(
143 =2 ﬁ Cot(—
T44=343 Sec(

o2
) 2]

] [CSC( 23 1

[Page 0007]

njsm( 6
e 4)..
205 -

Joof
.
ol

2
0

38
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TrigonometryExercise for ID 9877

171 13w 191 RO
TI=10m, T2 =-14 m, T3=-11m, T4=5m, 75 = , 76 = — , T7 = , 78 = —
2 2 2 2
26 28T 17w 197 757 637 85w
79 =— , T10=——"", Tl =—""", T12 =", TI3=—"", Ti4=—"] T15=-—
3 3 3 3 4 4
57w 1257 97 &t 55 = &3 1
T16:T, T17 =— P T18:T, T19:—T, 720 =

17w
1721 = Cos(5 ), 722 =Sin(-12 &), 723 =Cot(11 m), 724 = Tan( 10 ), T25=Sin( 5 j

137 2l m 27w ) 44 1t 37n
726 =Cos| ——— |, T27 =Sec| ———— |, 1728 =Csc|l ———— |, T29=Sin| ———— |, T30 =Cos
2 2 2 3 3
s

281 37 n ) 51m 55m 65
T3] =Tan , T32 = Sec , T33=Sin| ——— |, T34=Cos| —— |, T35 = Tan|
3 3 4 4 4
i 91 = (103 1 85 m 77 n
), 137 = Cos( ), 138 = Sln( p ), 139 = Cot( p ), T40 = Tan(— p )
37n 277 34n 71n
T41 =643 Tan[ Jﬁ COS[— TJ ~12 Sec( S ]Csc[ J
79 4 29
T42=«/§Cot( 6nj——«/§ Sin( nj [Csc( j [COS( j
79
T43 = Csc( j 54«/7C05( TEJ Sin( 671) ( J

T44=2ﬁCot( nj—ZSin(— “]+24ﬁcsc(— njCOS(463nj
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736 = Csc
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TrigonometryExercise for ID 9911

23 1 217 31 m 171
TI =9, T2=-13m, 13=2m, T4 =-10 m, 75 = 5 T6 = — 5 77 =— 5 T8 =
387 297 43 1t 10m 791 49 nt 53®
79 =— , T10 =", Tl =—""", T12=—"", TI13=—"", Ti4=—"], T15=-—
3 3 3 3 4 4
91 = 127 & 137 & 97wt 1197
T16=——"", T17 =— , T8 =— . T19 = , 720 =
4 6 6 6 6

721 =Sin(15 m), 722 = Cos(16 1), 723 = Tan(6 1), 724 = Sec(—12 m), T25=Cos(

) On 291 I5n ) 44
726 = Sin —T , 127 =Tan| ———— |, T28 = Sec 5 ) 729 = Sin —T , T30 = Cos| —

2

44t 17w (49m 27m
T31 =Sec| ———|, 732 = Cot| — , 733 = Sin| , T34 =Cos| —— |, T35 =Csc| —
3 3 4 4 4
65m (31lm 6lm 671
T36=Tan( 4 ), 137 = Sm( ), T38=Cos£ p ), T39:Csc( p j, T40:Tan(
RIN’ 46 1t 97 337
T41=2 Tan(— —j—3ﬁ CSC( ]+ 164/3 COS[ jcm( j
4 3 6 4
47 83 61
nj Cos(— _nj —4«/?(30‘[(— —njﬁSec( nj
3 6 4
17 = 97 1 35n 45 1t
T43=443 Sin(— —j—648 Sec( jcm(— . )ﬁ COS( y j
2 85m
T44:g«/§ Cot 2«/781n 3«/7Cos + 5 Csc p

X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXKKKKKKKXX XXX KKK KKK KKK KKK KKKKXX

5

742 =18 Tan(—




):0:9:9:9:9.9:9.9.9.9.9.9:9.9:0.9:9.9:9.9:9:0:9:9:9:9:0:9:9:9:9:9.:9:9.9:9.9.0.9:9.9:0.9.0.9:9.0:0.0:9.0:9.0:9.9:9.9:9:0:0:0:0.9.9:9.9.9.9:9.9.9.9:0.9:9.9:9.9.9.0:9.0:9.0:0.9:0:0:0:9:9:0.0:9.9.9.0:0.0.0.0.9.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXLXXKXXKXKXXXXKKX XL XKXXKXKXLXXKXKXKLXXKX KX XKXXKXKKKXKKXKXKME /1-6600301-00010XX
TrigonometryExercise for ID 10027

291 291 11n 35w
T =-6m, 2=12x, T3 =-5m, T4=11m, T5 = , 76 = — , T7 =— , T8 =
2 2 2 2
137 53¢ 407 26 67 57 m T
79 = , T10 =", Tl =—"—, T12=—"", TI3=—"", Ti4=—"], T15=-—
3 3 3 3 4 4
47 1t &9 1 791 107 & 121 =
T16=—"7 T17 =——"", TI8=——"", T19 = . 720 =
4 6 6 6 6

25n
721 = Cos(—6 1), 722 =Sin(-7 ), 723 = Tan(—-9 ), 724 =Sec(10 ), T25=Sin(— 5 j

i 197 297 _ 32n 28w
, T27 = Sec —T , 728 = Cot| — s 729 = Sin| — s 730 = Cos 3
e 41 7 43 1t _ 31n
, T32 = Sec —T , 733 =Cos| — 1) T34=Sln T35 =Csc| — 4
T 53¢ 67 m

p j, 138 = Cos( p j, T39=Sec( j T40:Tan(

41
T41 =124/ 3 Cot(— 3 ] ( -12 os( stc[ J
j [Tan( j+ 8 Csc( j[COS( j
49

n]ﬁSec( 4nJSm( 371)

6
39 ) 71 mn 52m 39
744 = Tan —T — 6 Sin —T -4 Cos +«/§Csc— 4
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17
726 = Cos(
2

22
731 = Tan(

27m (31
136 = Cot(— Tj’ 137 = Sm(

742 =3 Cot(

47 &t 55
743 =5 Tan —T — 108 Cos
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TrigonometryExercise for ID 10063

9n 191 25 ¢ 191
Tl =-7m, T2 =8, T3 =-10m, T4=5m, T5=—", T6 = — , T7 =— , T8 =
2 2 2 2
44 it 197 357 46 T 83 m 77 95 m
9=———, TlI0=—"", Tll=—"T+, TI2=——, TI3=——", Tl4=——"—, TI5=
3 3 3 3 4 4
737 791 149 &t 131 = 97wt
T16=T, T17=—T, T8 =— P T19 = P 720 =

117
721 =Sin(16 m), 722 = Cos(17 m), 723 =Tan(-9 m), 724 =Cot(12 1), T25=Cos(— j
T

2
) 257 35n 4971 (43
T26 =Sin| —— |, 127 =Cot —T , 728 = Csc 5 ) 729 =Cos , T30 = Sin 3

2 3
o (6lm 33 231
, 733 = Sin 1 ) T34 =Cos 1 ) T35 = Sec| —

207 25
731 = Tan| — , 732 =Csc 4
53 i 43 1t 597
s T39=Csc , T40 = Tan| — p

3
471 (91
1 j, 137 = Cos(— Tj’ T38 = Sln(

3l = 291 55n 89«
T41=94/3 Tan[ J—zﬁ Sin(— T]_ﬁ Sec[— TJ 1343 cm[— TJ

6

50 59 27 35
T42=38 COS(— . RJ -2 Csc(— Tnj +642 Sec(— Tnj |3 Cot(— Tnj
(491 28w 31n
T43 =80 Sin p Cos 3 ) 9 Cot 4/ 3 Sec

6

) 65T 2m 41 39n
T44 =6 Sin| ——— | — 16 Sec Csc| — Cot| —
6 3 6 4
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a4 w

136 = Cot(

49
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TrigonometryExercise for ID 10120

13w RN 17 n 271
TI=7mn, T2=-13m, 73 =-14 m, T4=6m, 75 =— , T6 = — , 17 = , T8 =
2 2 2 2
50m 257 40 17 = T 57 m 83 m
79 =— , T10 =", Tl =—"—, T12 =", TI3=—"", Ti4=—"], T15=-—
3 3 3 3 4 4
47 1t 119 = 67 137 & 97wt
Ti6 = N T17 = P TIS:_T’ T19 =— P 720 =

13w
721 = Cos(—14 ), 722 =Sin(8 ), 723 =Tan( 15 ), 724 = Cot(—6 1), T25=Cos( 5
i 2l n 31w 26 [ 52=
, T27 =Tan| ——— |, T28 =Sec| ———— |, 1729 =Cos| ———— |, T30 = Sin
2 2 3 3
41 nt 28 (29 45 S9n
T31 = Tan| —T , T32 = Sec , T33 = Sin 1) T34 =Cos 1) T35 =Csc| — 4

3
i 491 (73m 41 55m
j, 137 = Cos( j, 138 = Sm( j, 139 = Tan(— Tj’ 740 = Cot( j

T41=6Cos( ] ( ] 3fSec( ]+2[31n[ j

L RENE N

43 == fTan(?’l“j [SGC( j+18Sin(—8?’Tnj«/§Csc(—2O“j
") 3 cof 25 e 207

e 67
T44=242 Sin( ; ] — 486 Sec(
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(25
126 = Sm(
2

45
736 = Cot]

ﬁ w

T42 =6 Tan(
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TrigonometryExercise for ID 10367

17 n 9n 157 11=
T =-6m, 72=10m, 73 =-3m, T4=5m, 75 =— , 76 =——, 77 =— , T8 =
2 2 2 2
46 1t 207 357 257 657 77 51m
79 =— , T10=——"", Tl =—""", T12 =", TI13=—"", Ti4=——"", T15=-—
3 3 3 3 4 4
791 107 & 791t 121 = 77
Ti6 = N T17 = P TIS:_T’ T19 = P 720 = —

197
121 = Cos(—15 m), 722 = Sin(-5 m), 723 = Cot(10 1), 124 = Tan(—-9 1), T25=Sin(— 5 j

i 33n AR (28w 14
, T27 = Sec , 728 = Cot s 729 = Sin s 730 = Cos| —
2 2 3 3
o 631 41 33
, 733 =Cos| ——— |, T34 = Sin , T35 =Tan,
3 4 4 4
i ) 77 n 41 91 n
), 138 = Sm(— —6 ), T39:Csc(— —j, T40:C0t( )
[ 52= 107 & 3= 45
T41=24/3 Sln( ]—9 Sec(— p jTan( 5 ) ( ]
ch

T42=443 COS( j 243 Sm( j+2Tan( J«f Sec(
. o 22

T T T
T43=24/2 Sec(— J Cos( ) —-94/3 Tan(— —6 jq/ 2 Csc(—
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11
726 = Cos(
2

507 31
731 =Tan —T s 732 =Cot

35n 61
136 = Cot(— T), 137 = Cos(

32 1 39 97
T44=343 Tan(— Tn} — 5«/5 Sec(— Tn] -2 ﬁ Cot(
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TrigonometryExercise for ID 10372

Tn 131 131 191
Tl =-15m, T2=-10m, 13=7m, T4=4m, T5=——"", 76 = — , T7 = , 78 =
2 2 2 2
197 47 1t 347 56 57Tm 51m 85w
79 = , T10 =", Tl =—"—, T12=—"", TI3=—"", Ti4=——"", T15=-—
3 3 3 3 4 4
791 101 = 97 &t 119w 127 &
T16 =—"", T17 =— , TI8=—", T19 = , 720 = —
4 6 6 6 6

5=
721 =Cos(16 ), 722 =Sin(6 1), 723 = Tan(—15 ), 724 = Csc(-8 m), T25=Sin( j
8

: j 727 = Cot( = nj 728 = CSC( 212n j 729 = Sin( j 730 = Cos( nj
. j T32= CO‘[( j T33 = Sln( 32“ j T34= COS( j T35 = Tan( 3 4“}
J T38 = Cos( 416n ] T39= CSC( = j T40 = Cot( : 16n J
T41 =442 Sln( ] NEXe [ J 10 Cos( j L CSC( n]
e}l 2ol e 22
T43 = 162 CSC(— anj Tan(— —n] _2.2 Sec(_ 47 ’T) . ( ]
T44=7 [Sec( j 3[Csc( ]+12fTan( jﬁcos( 34 j
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31
726 = Cos( >

~N W

31
731 = Csc(

67m
T36 = Csc(— Tj’ 137 = Sln(

742 =2 Tan(
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TrigonometryExercise for ID 10375
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TI=3m,

251 15w 35w 291
72=10m, T3=-12n T4=-13m, T5 =-— , 76 = — , T7 = , 78 =
2 2 2 2
56 43t 297 16 55 ¢ 85w 49 1t
9=-——"7, Tl0=——, Tll=—"", TI2=-——", TB3=—1, Tl4d=——"—, TI5=
3 3 4
997 109 &t 115 = 101 =
T16=——"", T17 = , T8 =— . T19

A’
= , 120 =
6 6
15=
721 = Cos(—12 ) 722 =Sin(17 &), 723 =Cot(13 1), 724 =Tan(17 1), 1725 Cos(— 5 j
[ 35m 13w AR _ 291 197w
T26 = Sin , T27 = Tan| , T28 =Sec| ———— |, T29=Sin| ——— |, T30 = Cos
2 2 2 3 3
50m 3¢ 257 _ 43 1t 43 1t
T31=Sec| ————|, 732 = Cot s 733 =Cos s T34=Sin| —— |, T35 =Tan| —
3 3 4 4 4
47 1t (37m 53n 9n
T36 = Sec —T , T37 = Sin 6 ) 138 = Cos —T , 139 =Cot
6lmn 41
T41=ﬁ5ec( ; J—6«/§CSC[——j—«/§C (
33n
T42 =25 Tan

j, T40:Tan(856nj
3fsln( j
o 2] a2
T43=6 3Tan(109n

Bx),
55
ﬁCOS( j
4
26m ) 35n 671
— 80 Cos| — Sin| — Cot| —
3 6 4
43 1t _ 3lm 91 n
T44 =5 Sec 3 —6«/581n— 4 + 8 Cos

3

191
Tan
6
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TrigonometryExercise for ID 10426

21 = 15= 291 Tn
TI=-5m, T2=6m, T3=15m, T4 =-2m, 75 = , T6 = , 17 = , 8=——"
2 2 2 2
43 1t 47 1t 227 26 51m 53¢ 55m
79 = , TIO:T, Tl =—"—, T12=—"", TI3=—""", 714 =— N T15=
737 107 & 137 &
T16:T, T17 = .

91
, T19=—-—"", 720 =

9
721 = Cos(6 ) 722 =Sin(12 w), 723 = Tan(8 ), 724 =Sec(—9 m) 725 COS( TJ
) 257
126 = Sm(— j,

27m 19 _ 231 2
T27 = Tan| —T , 728 = Cot —T s 729 = Sin —T s 730 = Cos| —

"
3
52m 237 33n 39n 277
T31 =Csc , 732 =Tan| ——— |, 733 =Cos — |, T35 = Sec| —
3 3 4 4
67 m
j, T39=Cot(

(o)

j, T34 = Sin(—
4

37T
T36:Tan( 1 ), T37=COS(—

41n] ,(977: ( 41n)
|, T38 = Sin s T40 = Csc| —
6 6 6
35 227‘C 857 191
T41 =3 Tan| — -6C Cot| — 4
6 S5n
T42 = 4C0t( ) 2«/7 Sec( )+12f Csc(

1 45
i 3 jﬁsm 4“j

69 291 61ln 59n
743 =5 Tan( j— 10 Cos(—— «/ECSC( j«/;Cot(— —)

4 3 4 6
RN 53n 41 &t
T44=ﬁCot( ; ]—9ﬁTan(——6 j—ﬁsm(
0016]

257
+ 5 Sec
4 3
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TrigonometryExercise for ID 10628

25
726 = Cos(

731 = Tan(— —nj 732 = CSC(—

136 = Tan(—

4
41 =5ﬁ Sin(

21
T44 =4/ 2 Cos(

0017]
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721 =Sin(-5 ) 722 = Cos(—6 1), 723 = Csc(-13 m), 724 = Cot(—-8 m), T25=Sm(

o8 31n
s 727 = Cot
2
41

T
—], 133 = Sin(—

T
—j, 137 = Cos(—

41

103
T42=34/3 cm(

743 =4 Tan(—

).
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11x 23 1 5w

291
TI=6m, T2=-12 m, T3=5m, T4=-Tn 75 =— , T6 = — , 17 = , 8=—"
2 2 2 2
10= 50m 357 31m 91 = 53¢ 65m
T9=-——, Tl0=——, Tll=——, Ti2=——, Ti3=———, Tl4=——"—, TI5=
3 3 3 3 4 4 4

791 &S m 131 m &9 1 103 &

T16:T, T17 = . Ti8 = P T19:—T, 720 = — p

.

0

331
2

T 61
—), 134 = Cos(

)
32%)
)

2
T 4
), T30 = Cos(

([ 46
j, 129 = Sll’l(
T
l T35 = Csc(—

j, 128 = Tan(—

i , i 31
—), 138 = Sln(— —), 139 = Tan( ) T40 = Cot(

5 col Sl 25 ool S
SRSCSRNE S
_nj_48 CSC(85 njﬁsm(— 27njsec(_ 1znj
22, (). Lo

23nj
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TrigonometryExercise for ID 11408

13w 231 331 11=
TI=15m, T2=-5m, T3=14m, T4 =—-6m, 75 = , T6 = — , 77 =— , T8 =

2 2 2 2

31m 35m 347 50m 45 it 737 Tl =

79 = , T10 =", Tl =—"—, T12=—"", T13=- , Ti4=—"] T15=
3 3 3 3 4 4
99 1t 677 137 & 1197 6l m
T16:—T, T17:—T, T8 =— P T19 = P 720 =

177w
721 = Sin(-7 ), 722 = Cos(—=5 ), 723 = Tan(—-11 m), 724 = Sec(—17 m), T25=Sin(— 5 j

137 AR 137 147w (3Tm
726 = Cos , T27 = Sec , 128 = Cot| — , 729 = Cos| — , T30 = Sin
2 2 2 3 3
26 22 m ) 35~ 231 43 n
T31 =Tan| — , T32 =Csc , T33=Sin| ——— |, T34 =Cos| — , T35 = Sec| —
3 3 4 4 4
297 T1n (97 m 297 671
T36:Csc( 1) T37 =Cos| — p ), T38:Sm( ), T39:Csc(— Tj’ T40 = Sec p j

6
T 231 297 35n
j— 5 Sec(— —j + 12«/5 Sin( j«/gCos(— j
3 4 6
49 47 29
nj—«/;Sec( nj—lOCos(——?’n +3«/§Csc( 4nj
6lm ] 297 451t 101
T43=2«/5Csc 4 — 12 Sin| —T Cot 4 Sec| —

6
23m 3l 3l 69 1t
T44:«/5Csc(— T]«/ECot( j—4 Sec( ]«/ESin( 4 J
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55
T41 =5 Csc(

69
742 =3 Tan 4




X

91 rn
S 720 = —

6
721 =Sin(17 m) 722 =Cos(9 m), 723 =Sec(10 1), 724 = Cot(-17 1) 1725 Cos(
(35m
T26:Sm(

15w 257
, 127 =Tan| ——— |, T28 = Sec| —
2 2 2

35
741 =18 Cos(—

: T39=Tan(
; jCot(lzn]—9ﬁSec( ]fTan(

]
T42=10 COS(— 233 RJ ~18 Sec(— 47;) Sin(— —nj J2 CSC(
T43=342 CSC(— j -3 Sm( j 1643 COS( j Cot(

j 740 = Cot(—

)
61 m
T44—10$1n( J 3«/7Csc( j «/5 os(
[Page = 0019]

1
j —4/3 Cot| —
4 3 6
010.0.0:0:0.0.0.00/0.0.0.0:0.0.0.0000.0.00.0.0000000000000000.000000000000000000000000000000000 0000000000000

T
2
_ 20m 31 n
s 729 = Sin| — 3 ) 730 = Cos
32n 14 (69w 5=
T31 =Csc| — , 732 =Tan| ——— |, 733 = Sin , T34 =Cos| — , T35 = Sec
3 3 4 4
53n 71n 77T n T
736 = Cot( j, 137 = Cos(— —j, 738 = Sin(—
4 6 6
I
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TrigonometryExercise for ID 11560

191 17 n 191 25 ¢
TI =9, T2 =-14 m, T3=6m, T4=-3m, T5 = , 76 = , T7 = — , 78 = —
2 2 2 2
37 m 35m 16 &t 50m 67 53¢ 49 1t
79 = , T10 =", Tl =—"—, T12=—"", TI3=—"", 714 =— R T15= 4
47 1t 121 = 89 n 119 =
T16:T, T17 = . TI8=——"", T19 =

3
57

o

77nj
6
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TrigonometryExercise for ID 11806

291 171 35n 271
TI=15m, T2=2m, T3=-11m, T4 =-8 m, 75 =— , T6 = , 17 = , 78 =—
2 2 2 2
10m 47wt 257 327 107 & 45 it 57
79 =— R TI0=—"", Ti] =—"""), T]2:—T, 713 =- R T14 =-— , T15 = 4
95 = 677 101 & 119 = 6lm
T16:T, T17:—T, T8 =— , = . 720 = p

721 =Cos(16 ),

T42=4[3 cm(

67
743 =2 Csc( p

17w
126 = Cos(— j,
2
38x
T31 = Sec| — ,
3
59mn
136 = Tan(— ),
4
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137 = Sin(—

31
T44 =3 Sec( 3

722 =Sin(-15 &),

25
723 =Sec(—17 m), 124 = Csc(-7 m), T25=Sin( j

i 33n (49Tm 177
s 728 = Sec 5 ) 729 = Sin 3 ) 730 = Cos| —
297 49 1t 69 291
, , T34 =Cos , 735 = Cot
3 4 4 4
65m T 41 71 n
), j, 739 = Sec(— —j, T40 = Csc(— )
6 6 6
65m 31m 277 55 =
— 2 Sec Cot| — Csc
4 3 4 6
37n
j 2 «/7 Sec( j 6 [Csc( j 3 Tan( P j
T 43 1t
jﬁsec( ] ( ) ( 6 j
T 49 1t 47 nt
—Csc +2 Cot Cos| —
6 4 3

21
727 = Tan 5

O w

732 = Csc(— 733 = Sin(

37
738 = Cos

741 = Tan(
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TrigonometryExercise for ID 12219

11x 131 331 271
T =-14m, T2 =-15m, T3=2m, T4=3mx, 75 = , T6 = , 77 =— , 78 =—
2 2 2 2
40 Tr 41 77 957 57
79 =— R TI0=—"", Tl =—", TI12=—", 713 =- R T4 = , T15=
3 3 3 4 4 4
107 & 133 & 149 &t 83 m 791
T16 = — S 17=—", =— : TI9=—""", 120 = —
6 6
721 = Sin(—-10 1),

6
722 = Cos(—15 ), 723 =Sec(10 1), 724 =Cot(13 1), T25=Sin(—

17 nj
2
277 3ln 33n (49m 40 7t
726 = Cos , 727 = Cot , T28 =Sec| ———— |, 729 = Sin , T30 = Cos
2 2 2 3 3
41 46 29n (6lm 231
T31 = Sec| — 3 ) 732 =Cot 3 ) 733 =Cos 1 ) T34 = Sin 1 ) T35 = Cot| —
331 971 , 35w 43
T36:Csc( 1 j, T37:C05( p ), T38:Sm(—T), T39:Csc(

4
n] ( 531
. T40=Cot| -
6
61 25
T41 =43 cm( j—96 COS[

6 j
i nJ ( 2971) ( 35nj
Sin| — Tan| —
6 3 6

4

551 32n 47m)  (55=
742 =4 Csc P — Sec —T + 6 Tan| — 4

Sin
6

1 97w 37w 37w 89
743 = —«/; Cot( ]«/3 Sec( j -6 ﬁ Csc( j Sin(— j

3 6 4 3 6
43 89 n 32x 3=
T44=34/2 COS(— Tj 4 Sin(— T] _34/3 CSC(— TJ +342 Sec(— j

0021]
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TrigonometryExercise for ID 12954

11w 217 21 = 11=
T =-9m, T2 =-10 m, T3=13 =, T4=8mx, 75 = , T6 = — , 17 = , 78 =—
2 2 2 2
50m 46 T 41 37m 41 47 S9n
79 =— , T10=——"", Tl =—"", T12 =", TI13=—"", Ti4=—"], T15=-—
3 3 3 3 4 4
7T 1 131 m &S m 101 & 103 &
T16 =— . T17 = , TI8=—", T19 =— , 720 = —
4 6 6 6 6

On
721 =Cos(13 ), 122 = Sin(-15 m), 723 = Csc(-11 ), 724 = Cot(7 ), T25=Cos(——)

2
i 297w 3ln (43 n
, T27 = Csc| — , 128 =Cot| ——— |, 729 = Sin , T30 = Cos| —
2 2 3 3
231 17 = 671 (45w T
T3] =Csc| ———— |, T32 = Sec| — , 733 =Cos| —— |, T34 = Sin , T35 =Cot| —
3 3 4 4 4
63m ] 651 37m 43 1t 671
T36:Sec(——4 j, 737 = Sln(— p j, T38:Cos( j, T39:Tan( j, T40:Csc( p )
44 nt 37 m
T41=3 cm( ] 243 COS[ J 3 CSC(— - j+2ﬁ Sin( ; ]
(34nj (337:} ( 717:) (2275}
742 = 6 Cos Tan — 162 Sec| — Csc
3 4 6 3
23n 597
T43 =2 Sin| — —24/2 Seq| - +36 Cofl ==~ | Cos| -
83 34
nj_ 18«/5860( 4nJTan(— 6n)Cot( 375)
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TrigonometryExercise for ID 12964

21 = 17 = 27 x 191
TI=10m, T2 =-4m, 13=7m, T4=-11 m, 75 =— , T6 = , 17 = , 78 =—
2 2 2 2
347 207 237w 43t T3 7 95 = 91 =
79 =— , T10=——"", Tl =—"", T12 =", TI13=—"", Ti4=—", T15=-—
3 3 3 3 4 4
7T 1 83 m 101 =« 55 = 97 1t
T16=——"", T17 =", T8 =— . T19=—"" 720 =
4 6 6 6 6

On
1721 = Cos(—10 ), 722 =Sin(-12 &), 723 = Csc(-12 ), 724 = Cot(-13 1), T25=Sin(—7j

137 33n 197 ) 38mn 37w
726 =Cos| ——— |, 127 =Cot , 728 = Csc , T29=Sin| ———— |, T30 =Cos
2 2 2 3 3
T 17 n 65 67n 51m
s T32=Cot| ——— |, 733 =Cos , T34 =Sin| —— |, T35 =Tan| —
3 4 4 4
S9n 6lm (31lm 3l n 53n
736 = Sec(— —j, 137 = Cos( ), 738 = Sln( ), 139 = Cot( ), 740 = Sec(— j
4 6 6 6 6
89w 39r 50m 291
T41 =243 Cos[— —J -3 Tan(— —j + 18 Cot(— jSec(— J
6 4 3 6
27 17 103
nj—SﬁSin(— —n)«/gCot(— nstc( ch
3 4 3
l6 951t 431t
143 =12 Cof| = | Tan| -—— —244/2 Cos| -
73
T44 =~ [Cos( j 3«/7$1n( ) 2«/7Tan( j+4Csc( p j
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40
131 = Tan(

46
742 =2 Cos(
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TrigonometryExercise for ID 12971

277 On 2l w 27w
Tl =12 =, T2 =-11m, T3=9m, T4=-4m, TS5 = 5 TézT, 17 =—- 5 T8 =—-
25T 56 16 357 51w 37w 797
79 = , TI0=—-—"", Tll=——"", TI12=—", TI13=- , T14=—-——"", Tl5 =
3 3 4
8l = 107 = 121 & 797 125w
TI6=—""", T17 = , TI8 = , T19=—"7" 120 =-
4 6 6
] ) 29n
721 = Cos(10 ), 722 =Sin(7 ), 723 = Cot(15 m), 724 = Csc(16 m), 725 = Sin| — 5
5= 297 15w 31n (40m
726 = Cos , 127 =Csc| ———— |, T28 = Sec , 729 = Cos , T30 = Sin
2 2 2 3 3
34 37n
T31 = Tan| 3 ) 732 =Csc 3

) 671 3l 65
, 733 = Sin _T , T34 =Cos _T , T35 = Sec 4

5ln ) 41 83 n 61 91 n
T36:Csc(—T), T37:Sm(—T), T38:COS(_TJ’ T39=C0t( p )

T
j, T40 = Sec(
6

37w 50w 531 97 1t

7¥1=27Sa{ ch(————j—zJECb{ jJ?cm{ )

6 3 4 6
49 1t

59 49 20
Jzzzzsa{ . j—6J§Cb{——z£)+24sm( 6RJJ§Tm{— 3nj
57 61
ﬂﬁ:2¢gsm( ]—HBCm(6anECm(—

i j ( 267:]
Cscl| -
4 3
2 103 47 nt 17w 67
T44:—«/§Cos —Tan| —— | —4 Sec| — + Csc
3 6 4 3
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X

85w 95 =
. T19:T, 720 =

6
721 = Cos(14 ) 722 = Sin(-6 1), 723 = Cot(6 ), 724 =Sec(—17 1) 725 Sln(
25
T26=COS(

, 127 =Cot , 728 = Cscl| —
2 2

17w 227
131 = Sec(— Tl 132 = Cot(

651 _
j, 133 = Cos( 4 j, T34 = Sln(
51xw
136 = Csc(— Tj’ 137 = Cos( ) 138 = Sm(

j 735 = Tan(
77

27
+4/2 Sec| —
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T
2

5= 34n )

T , 729 = Cos T30 = Sin| —

59
p ), 739 = Csc( j T40 = Cot(—
65
T4J=51hn( 3 Se ( j+1oyf_cO{: jCOt 4“}
8 29 47
T42:27Tan( ( ch__ t( nj«/;Cos(— nj
3 4 6
20 41 nt S3x 40
T43=3 «/7 3 Sec| — — Cot Cos| — Tan|
3 4 6 3
35
7w=22Cm& Jj—m ( sz_m{
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TrigonometryExercise for ID 13023

251 15w RN 13w

TI=5m, T2 =-6m, T3=-15m, T4=4m, T5 = , 76 = — , T7 = , 78 =

2 2 2 2
387 297 16 13 = 657 37m S9n
79 =— , T10 =", Tl =—"—, T12 =", TI13=—"", Ti4=——"", T15=-—
3 3 4
8T n 67 149 &t
T16:T, T17=—"7"3, T8 =—

Sch
3

21nj
4

65n]
6
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TrigonometryExercise for ID 13033

15w 25 ¢ 231 291
Tl =8m, T2 =-13 m, T3 =-6m, T4=5m, T5 = , 76 = — , T7 =— , 78 =
2 2 2 2
44 it 43 1t 357 34 r 51m 53¢ 87 m
79 =— , TI0=—"", Tl =—""}, TI12=——"", Ti3=—"—", T14 =— S Ti5 =
3 3 3 3 4 4
41 103 121w 143 101
TI6=—" T17 =— . Ti8 = , T19 = . 720 = —
4 6 6 6 6

29n
721 =Sin(—-14 1), 722 = Cos(—7 m), 723 =Sec(11 m), 724 = Cot(—6 1), T25=Cos( 5 j

nj (15 ch (2711} ) (4911} (5211}
s T27 = Sec , 728 = Cot , 729 = Sin , T30 = Cos
2 2 2 3 3
o 37 n ) 3l 231 451
s 732 =Cot , T33=Sin| —— |, T34 =Cos| ——— |, T35 =Csc
3 4 4 4
671 ([ 85m 49 1 53n 83 m
T36:S€C(_Tj’ T37=Sm( j, T38:Cos( j, 139 = Cot( j, T40:Tan(— p j
(31l= 3l n 71 3w
T41=304/3 Sm( S jCot(—Tj—IOS COS(— ] ( )
83 37
142 = [Sm( j Csc( T“J—lo Cos( nj+5 ot( j
43
T43=643 Cos( j 343 Tan( j+18 Cot( jf Sec(

n] (2lnj ) ( 777:) (287:)
— 50 Cot Sin| — Sec
4 6 3
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(27
726 = Sm(

16
731 = Csc(

43
T44=94/3 Tan(
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TrigonometryExercise for ID 13197

Tl =-8m,

11w 17 n 191 291
T2=2m, T3=17m, T4=-13m, T5 = , 76 = — , T7 =— , 78 =
2 2 2 2
347 327 237w 257 S9m 95« 41
79 =— , TI0=—-—"", Tl =—""}, TI12=—", Ti3=——"—", T14=—""" T15= 4
45t 113 =« 121 = 95« 103
T16=——"", T17 =— P T18 = . T19=—"", 720 = — p
721 =Sin(-8 1), 722 =Cos(-9 n), 723 = Csc(—-10 1),
RRE 31n
726 = Cos 5 ) 127 =Csc

724 = Sec(—12 n),

137w 35n

, T28 = Sec , 729 = Cos| — ,

2 2 3

32x 14wt

131 = Tan(— Tj, 132 = Cot(— Tj’ 733 = Cos(
27

45 nj _ (61 nj
, T34 = Sin ,
4 4
41 ] 83 m 91 =
736 = Sec(— —4 j, 737 = Cos(— —6 j, 738 = Sln(— —j, 1739 = Csc( p ),
147 6lm 49 1t 507
T4 =4 COS[— —J ) CSC( ) 11242 Sin( ]ﬁ cm(— —j
3 6 4 3
(49nj ( SOnj ( 357:) (61nj
742 =5 Cot| — 8 Cos| — Tan| — Csc
4 3 4 6
197 55n 551 37n
T43=124/3 Tan( jﬁ Sin(— —j _54 Sec( Jcm( j
3 4 6 3
14 103 &t
T44 =4/ 3 Tan ——3 —5Csc

(69T 53n
—24/2 Sin + 5 Sec| —
6 4
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_ (19nj
725 = Sin
2
, (317:}
730 = Sin
3
35w
T35:Csc(—

)
53m
T40=Tan(— p )
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TrigonometryExercise for ID 13907
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TI=12m,

251 11x 137 271
T2=-14m, 13 =-7m, T4=5m, 75 =— , T6 = , 17 = , 78 =—
2 2 2 2
31m 227 41 56T 67 47 1t 89 n
79 = , T10=——"", Tl =—"", T12=—"", TI3=—""", T14 = R T15=
3 4 4
537 131 m 1257 103 &
T16=——"", T17 = , T8 =— . T19 =—

8 n
= , 120 =
6
721 =Cos(10 ) 722 =Sin(-13 &), 723 =Cot(12 1), 724 =Tan(-7 m) 725 Sln(
29m
726 = Cos —T , T27 =Csc

nj (35nj _ ( 4lnj ( SOnj
-, 728 = Tan| , T29=Sin| ——— |, T30 = Cos| —
2 2 3 3
43 n 40 [ 25= 45 57 m
T31 =Cot , 732 = Tan| , T33 = Sin , T34 = Cos , T35 = Tan,
3 3 4 4
21 m 71n 95 m
T36=C0t( 1 j, T37:C05( ), 138 = Sln(—
T41=9ﬁ(:ot(

) ( ) o-sed -2
") el -l - o - 57

r12- 3642 s 2 5 sed - 222 5 5 co 2% - 31)

rir- 3 Tl =22 25T ) g cof - 222)

mc( 1) o 55y cof 213

3
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TrigonometryExercise for ID 13991

197 217 5w 15w

TI=6m, 12 =-Tm, 73 =-14 m, T4=3mx, 75 =— 5 T6 = — 5 T7:T’ T8 =
50m 28T 17w 37m 67 69m 87 m

79 =— , T10=——"", Tl =—""", T12 =", TI3=—"", 714 =— R T15=
3 3 3 3 4 4 4

657 103 & 737 Tl = &9 1
T16 =—"", T17 =— , TI8=—", T19=—", 720 = —
4 6 6 6 6

27
721 =Sin(-14 1), 722 =Cos(15 ), 723 =Cot(17 1), 724 =Csc(7 m), T25=Cos(— an
_ 25n 3 n 2l n ) 38m 32n
T26 =Sin| ———— |, T27 =Csc , 728 =Tan| ——— |, T29=Sin| ———— |, T30 = Cos| —
2 2 2 3 3
50m 28m 47 n (29® 671
T31=Sec| ——|, 732 =Cot , T33=Cos| —— |, T34 = Sin , T35 =Csc| —
3 3 4 4
( 27n] ,(10371] (5571] ( j (6771)
736 =Sec| —— |, T37 = Sin , 138 = Cos , 739 =Tan T40 = Csc
4 6 6 6
63 1 25m ) S3m
T41=5Cot(——j—4Sec( j—SSm(— ]+ an( j
4 6
95n 28w . 95 n
T42 =64/ 3 Tan —T — 24 Sec Sin| — B

3
T43=ﬁCsc(—$—njﬁCos(6l6nj—3 3 Tan(zgn)ﬁse:c(:“j
T44=— fCot( j 5T an( 9n)+12ﬁsm(19njc5c(_776“j
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TrigonometryExercise for ID 14005

21 = 197 R 131
TI=5m, 12 =-Tm, T3 =-6m, T4=2mx, 75 = , T6 = , 77 =— , 78 =—
2 2 2 2
16 &t 257 44 it 47 1 65m 55 ¢ 37 m
79 =— , T10 =", Tl =—"—, T12 =", T3 = , T14 = R T15=-—
3 3 3 3 4 4
91 = 67 101 =« 109 &t 107 &
T16=——"", T17=—"7"3, T8 =— . T19 = , 720 =
4 6 6 6 6

1=
721 = Cos(—7 ), 722 =Sin(—-6 ), 723 =Tan( 16 ), 724 = Csc(—6 1), T25=Cos( 5 j

_ 15w 15w 2l n ) 47Tn 50T
T26 =Sin| ——— |, 127 = Cot| — , T28 = Sec , 129 = Sin| — , T30 =Cos| —
2 2 2 3
38n 351 257 _ 69
T31=Sec| ———|, 132 =Csc| — , 733 =Cos , T34 = Sin| — T35 = Sec
3 3 4 4
237 35n ) 297 671
T36=Tan(— T), T37=Cos£— p ), 138 = Sm(— —), T39=Tan( ) T40:Csc( p j
23 57
T41=18ﬁcSc(— 4“} ( j ( ]fsln( ]
341
T42:3«/§Csc 31/7860 +24 Tan Cos
41 i 9n 291
T43:4«/5Cos( ; j—zﬁCSC(—T]—ﬁcOt( )+4Tan( p j
4 47 27 41 103
T44:g«/§ Sin(— Tnj_?j 2 Csc(— 471) Sec(— 3n]«/§C0t( P nj
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TrigonometryExercise for ID 14157
31 n AR 27m 37 n
Tl =-12m, T2=10m, T3=-3m, T4=11m, T5=— \ T6 = \ 17 = \ T8 =—
2 2 2 2
40 &t 13x 32n 85m 91 n
79 =- , TI0=—"", Tl =—"—, TI12 =", TI3=—"", Ti4=—"", T15=-
3 3 3 3 4 4 4
63m 119w 115n 737 137 1
TI6="", T17 = , TI18=- , T19=—""), 720 =—-
4 6 6 6 6
) 25
721 =Sin(8 1) 722 = Cos(15 ), 723 =Tan(9 m), 724 = Cot(17 ), 725 Cos( 5 j
T 297 1= ) 237 26
, 727 = Cot —T, T28 = Sec —T, 729 = Sin —T, T30 =Cos| — 3

T26:Sin(——
41 n 26 45 1t 39n
T31 =Csc —? , 732 = Tan, —? , 733 =Cos , T34 = Sin| — T , T35 = Sec| — 4

J T37:c05(976 j . Sm( j 675) m:SeC(_ o ]
n]—48%[ J ( ] 3Tm{ 72“}
712:1zsa{31“ja{ j ( j m(4§nj
e
T44 = STM{ j g¢_(b{ j¢58a{2in)Cb{zin]
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27nj

103
739 = Tan

53
136 = Cot

67
T41 =2 Csc(
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